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2.1. E2.1, vit)= 2 X 120cos (w? +30°) , i{t)=y2 :
x 10cos (@t — 30°) ,

{a) Mk ABMMP@E), S, PHQ, ‘

b HEXE—EMERN (RETHE) BEIR , AR
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8 @ov(t) =120 vZcos (wt+30°)
i(t)=10v2 cos (wt—30°)
S V=120 7™
I=10¢/C-3%
S=vI* -
=120 el'( 30°) | }OGf(SP)
= 1200 ¢’ (8%:

1200( cos 60°+ jfsin60°)
600 4+ 600 V3 j
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P=600

- Q=600V73
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(b) i(l)

E v (t)
v(t)

R vx(t)

v ()

2.2. Vi =100 R%E  RASEBNOREDIENBELRERS
1,707 E4% , i /NMEB — 293 % .
() R —BRNSKWSHRRLEE .
b) HERBANBHS=P+jQ.,
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iVi=100

VI* . =1707
VI% . =—293"

1707 — ( — 293 } =2000
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YRS = 1000 =Q
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R=IVIII| sing
1| sing =10
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ERBEHEE 0.9 ,

M. cosg=0.7
cos ¢'=0.9
500 X sin ¢ =357.07
500 X cos ¢ =350
35047 (357.07+x)

357.07+x
350

= tan ¢'

= 0.4843

x=—187.55 (K )
OB 1875650 KL
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200 X cos 45° =100v2 (200 T & )
200 X sin45° =100 v2
P+ jQ=100 v2Z+ ( 100v2—-50)

100 v 2 - SO
v ——= 32.88"°

co¢' =tan™!

PF=cos ¢' =0.84 ( %% )
S=v {100 vZ )%+ ( 10042 -50)%¢’*
;163,4 e'? i
168.4=440 111 (1SI=|VII|I])
s ) =0.383
c LTS 383 okt

25. — 10 B# K6 R¥EL ELIPF 0.9 #%WIVI0 TR .
@ HKkS=P+;Q,
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BB ¢ =cos'0.9=2584°
10X 10° xsin{25.84° ) =43 x 10°
10 X10° X0.9=9x 103
@.. P=9{F I -
Q=436 TR
OP=IVIII| cosg
9x10°=4161711x0.9
[ 1] =24,04 ( &)
©xl=0"
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IV =125.84° ,

P(t)=IVIII| Ccos (IV —L T )+cos (2wt +IV + L1 ) )
=10x10°C 0.9+ cos ( 2wt +25,84°)]
=9 X 10%+ 10 X 10°® cos ( 2wt + 25.84°)

S P(t)=9+10cos (2wt +25.84° )FF R
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Z=10/-15°
Voo = 208 /-120°

ﬁ*V.a {Vbc ’ Vaa'iVb- .n_Veu ’ Ic 910' :Ic ﬁsuﬂ o

B V. =2089-12°
a@BEc 120°
- b #EE a 120°
oo Vs =208 L+ 120°
Vie =208 S 0°
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qval =qvl‘ - 3°
= 90°
emimaw (2o im)
V.. = 1204 — 30° |
V.o =120 X210° & 120 L - 150°

[ Ve 1209907
*Z 104-15°
=129 105°
1.=Zzi==12<)(—15°
Io=124225°
Su=3V.1-’

=3x120x 124 ( 90°+ 105° )
= 43204 195° (B BE )
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- (140° )--HJ (—0.5-0.866 )~ (—0.5+0.866j )

+V ! (12.82/)=0
0.0455 7 +0.0787+V,," (12,82 ) =0

, _ 0,0787+0.0455 j
. 12.82;

=(3.55-6,147)x10"?

10 . L
I.=—ﬁ; (1-3.55%107* +6.14 j x 10-*%)

=-0.9067+5.582x 10r®
=0.906 ¥ - 89.65°
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1, =-Tl—1 (-0.5-0.866,—3.55%10"%+6,14jx10°% )

=0.4578 j —0.782
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